Array.  Assignment: Tue. Nov 2/

A 35 an armay of n htegers ALI1, Al21, ..., ALni.

g 277 D 2 x=
AlXI =13 of X#
q AlyI=0D

Y 27?7 should be  1=0.
g, 277 shad be AlYl=0_

(Uhen we. se. vartubles _as -ndives ip_arags, twe nead 1o

_qecount - yubtiple ases ey mss/*b/e Vilues  Yhat

Jhe Varables  can ake

“jaﬂﬁwﬁewajﬁ“&gc@ﬁgaﬁ Cbg/zqes Fist= and

 Yesple them when we need  15- prase anyplred
condMons

& é
e ity . 5 orginal_piray

q &[A¥€,<—625/A]D
A[érl = 6;_ )
dR D QY f}ggignme/zt

_ P an gssignment - an aray valee  Aled =€

 ossume tHat the_assiymment— Peduced_a_rew-_antay Afe< e}

put-:amay A nIndeX > wilie.

OZC(W array Af(@é(’ﬁ ; d/u?f/z X dentieal P A

(xmi)‘l‘ 7712_8 element- s Lﬁdﬂa&/ 75 have YAs

Ud/l( e s

Al 3 Y04y T2 =7 1

AllerufiezyTIn=2 %

A1« 2341« 33271 = 2 AlZ]

We apply assigmments from left 4p_right

004



Array  assignment | | Tue. Nov 2|

Pve Yhat Fhe ollowhg progran_satistres Jhe_glven Yoiple qnder

sl cartecthess |

q (Alx1= K) A (ALY9T =YD D

QA UALX e ATEI YL Y < AN TXT= 45 A

> 51—_,' (A k< ALYI B U< ATKI G TY] = %)) D mphed .

= AIrx713

((A {«e Amwﬁeﬂtm YD) N
a@c - AAX<CALYTISIY< I LYT=%D)) D assgnment
ot ACKA = - ATYT ,umﬁxé—mau/m

0 CALY<ERIxT = Y,) A (wam %) D iy

azmﬁ - asszcmment
Clgtqnfwefvr AT4T =+ QLAIG=+4 /A7 |
L q Arx1=4) A ( AE&IJ %) D Artay _assignment:

To_prove _the implied _condriim, e need 7 e the %//mw)w

D A x<ALuIZd Y<ATKIG K] = ALY, and

@ Afx<c A Y Y e A% TY] = Ax1

Bt &£ 6 - //ze fist_assignment X< ATH) dees ot _ynatfer

because  the  Se oyl asgcm et /ﬁgma: She Y elemerit of A

o ACKD,  ThA s e we wgit 4 Shao &ED

oot of @ 2 (wsider 2 CASES -

O X=Y. The seand asigiment can be pewrtten as X & ALY,

Which 75 the sume. as ha Li<t (st

Thus, e X1 clemeit sEA 3s ATYT after both ?S/?//?/??e/)?@

TN,

C) K+ Y. The Seand assipment= ches pzr /’/m/w the 1M glomont-

of A Thewtne, the ath clement o A 5 AL4T affer

both assigpments QED



_Array asstgnimerct Tue. Nov 21
Prove “that e ollowrhg pregran  saiistres the glven Yoiple_qnder
Partial - Cortecthess

4§ (ALx1= %) A (ALYT = Y.) D
d (AIx<€ATYI XL Y« ATKIY X = Y)
I A (AIX< ALY LY ATKIZTYT = % ) D jnplied.
= AlX]; _,
......... d (A{’Xé-'AEﬂ?AMéﬂ 3= Yo )
A (ALX<ALSITY<t3TYT =) D assignment

 AKI=ALYT;
o At I = Y ) ACA LYt TYI=%D D antay
assiymmest
ALYI =1

JUALxT= Yo) A (ALYT= %)) D Artuy assi\gnme/zt_

To_prove_the “plied” condottm, ive need v prove the ﬁ//mm
(’D A{%eAEHJHHé—AZ/X’H M?—AWY and
O Afx<Ay1y U< ALY T4T= ATA]

Diewf’ aJF O The fist ossigmmemt " K< ALY asigns ALYD T
Hha Xt element of A Comsivler 2 axses Br Y
) H- Y#KX, then the secrnol aSSIQNTNERT_cloes it c/m/zae 1A
A element of: A Thus, e ,2/#/7 elemeiit ot A 5 /}1:4{7
aftel Y gssignments
() IE Y=K , e second assynment — an be relriten as
K< AEH?, which 713 the Scz/)w G e Lt ASSIGNINERT: .
Thus, e " elemert ot A ATYT aféer he a&mﬁmm?tf
because
P et & . The hrsr aSHIMEnt abes 1o ar mader The second AS)9meTmt=
assigns ACK) o A8 W" clement- of A and s A %60

desm( rsUutt
- Sdutions | &




